)R b EA RS 2 — R

ASTICAET 0 A 1 H B offi ik

1 RISk

X5y AW [
RANQA2ELAEDF) 450H 4,500
HN(B7% ~ 1258 AT D) 150MH 1,500H
/N N (BRE AT D) 60H 600
{5

% R1E, 18EZRE 35,
2 Ak
X5y ARG E R )
RANA2FLAEDF) 5201
o N LA (L27% A D) 210M
3 ZHBR—LER S
M % 44 VENL [ 4 H
(FRTOIED B AR B4 1HEN D AF#£9  |GREFFM A2 5
£0) I & ) 56
2 HIFR— [ % 34,710M 34,710M 40,040M
Uz CE3 53,400 53,400 64,070M

(e
J\EAR 2,780H] 2,780H] 3,730
Y| 2,780 2,780 3,730
oE— 2,780M 2,780H] 3,730
< AEN1 2,780H] 2,780H] 3,730
X AHED2 2,780H] 2,780H] 3,730
Bt R 3 D HHICE 28
{5

1 ZHRE—=MCONTE, TTRBAFAT25EGICIRY —fktan8El L 45,
2 ZHMAR—NVLUSNONERR TE 22 BINIZFI T 2356 OBHIE, Y%k b
FINHERE T 5,




4 FRARH

A =RV FrAkk4
i 1.8V v kv 5201
E—/L FOR1IAS 100H
A AF— 1AR(7202 Y U v hv) 1,050
IE Bt 1AR(7202 Y U v bv) 520
Bk — NHI 100
5 @ sk
B AT I8 % Bk
BmOERM [HE 3101
BEh AT — 1,080
ATV — 1,080M
B i 50H
HEEA R nU—AkRU VT Ak 430H
T wRX—=FKRU T A b 310
N—=H—=F4 K 310H
VA SO I 310/
ARy b TA K 160MH
=V 7F4 b 530
R A NSRS 1,610H
~A 7Ry 530M
TAXY L ALY 1,610
Nty T vF 530
CD7L—¥— 5301
AT =V A —H 5301
FBA t—% 430




